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(374, 000, 000)
= B 391, 292, 000
(340, 000, 000)
« LHHilfiks 355, 720, 000
(34, 000, 000)
- HHBIARYSEE (1.0 %) 35, 572, 000
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Cn) ) (63.000)| (v )
2 D7 H—T Td=T40kN/ A% 62. 000 A
O ) ) )
3 1-2)7 v Hh—T. Td=T47kN/ A 1.000 ZN
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Cn) Cn) () )
8  (Q)WE - WIRT 0. 000
Cn) () (52.000)| ( »n )
9 1) g B VafL A (L) ¢ 150, 250 35. 000 m
Cn) ) (68.000)| (v )
10 2)#@HicE R IFV i (L) ¢ 150, 250 62. 200 m
(n) (n) (m) )
1 @ &EAXRT 0. 000
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D=D1,/D2
D1 = B&BHEEHEEORIUMA LM 31.97%
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ML 1.000 =X 3,176, 000
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ESd 1.000 X 3,463, 000
s —7RI (2%) (2,967, 000)
ML 1.000 X 3, 659, 000
s u—7RT (25) (3,179, 000)
ESsd 1.000 X 3, 945, 000
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ES5e ¢ 1.000 X 2, 845, 000
cE—7HIT (1%) (338, 000)
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SR NTR (3,694, 000)

3, 698, 000
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1.000 | =t 3, 698, 000
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1.000 | st 3, 698, 000

A EIE T (m)

1.000 | st 2,669, 000
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[ CHg | &I F skiukmxd® (2o 1) TH (G 3EE)

RO D) ¥ & HAT il & H i &
EH LR (R L ARR<) (163,519, 000)
173, 250, 000
- kT (1, 987, 000)
1. 000 & 1,923,000
<RI (317, 000)
1. 000 e 294, 000
000001 i #1] (53. 000) () (243, 800)| #A - HA [H{HB]
BT L 54. 000 m3 4,600 248,400 | BH 1%
000002 4 i 1 (8. 000) () (13,816)| #A - HA [H{IiB]
B+ 5. 000 m3 1,727 8,635 | BH 2%
000003 H it v (8. 000) () (59, 448)| #A - HA [H{fiB]
BT L 5. 000 m3 7,431 37,155 | B¥ 3%
(317, 064)
N 294,190
©BHA (L—2X) (233, 000)
1. 000 N 223, 000
000004 A J3fEiA (61.000) () (151,097)| A « HA [H{HB]
B L 59. 000 m3 2,477 146,143 | BHE 4%
000005 f&HiA (/L—X) (57. 000) (n) (81,453)| A - LA [HAliB]
BWE+ 54. 000 m3 1,429 77,166 | B 5%
(232, 550)
& 223,309
- R T ()
1. 000 Y 463, 000
000006 44T () () ()| A - HA [HfiB]
BT L 371. 000 nf 1,217 451,507 | BH 6%
000007 ki () () ()| A - HA [HEB]
ik 1 4.000 nf 2,929 11,716 | BH 7%
()
& 463, 223
o fEEEFE T (974, 000)
1. 000 Y 943, 000
000008 - #ih % S it (61. 000) (m) (974, 475)| A - HA [HftiB]
59. 000 m3 15,975 942,525 | BH 8%
(974, 475)
& E 942, 525
CkEER—Y /T (14, 874, 000)
1. 000 # 14, 689, 000
C e kEER—Y LT (8, 975, 000)
R 1. 000 e 9, 025, 000
000009 EHAKAR—V 7 (m—=2 Y ==y arX) (n) (m) ()| A - HA [HAEB]
¢ 135, BEET 1. 50m/AMEZ 1.700 m 19,127 32,516 | B¥ o9&
000010 #EHAR—V 7 (=4 Y —"—F v arX) () () ()| A - HA [HiB]
¢ 135, BT+, 50m/ALLF 22. 100 m 16, 868 372,783 | BH  10%
000011 EHAR—Y > 2 (m—xY—r_—D v arR) () () ()| BA - HA [HAliB]
690, B 1. 50m/ Az 46. 000 m 13,990 643,540 | B¥ 118
000012 #EHAKR—V 7 (=4 Y —_—F v a k) () (n) ()| A - HA [HiB]
690, BEt. 50m/ALLF 448. 300 m 12,387 5,553,092 | B¥L 128
000013 4EHAR—Y > 7 (m—x Y —r_—D v arRK) (n) () ()| BA - HA [H{iB]
$ 90, WCE, 50m/ A A 5. 300 m 16, 194 85,828 | BHL 135
000014 tEAR—V 7 (m—=HY —"—F v a k) () (n) ()| A - HA [HiB]
690, A, 50m/ALLF 111. 600 m 14, 454 1,613,066 | BH 14%
000015 4L (m—% U —ri=H v a2 vR) (nm) () ()| BA - HA [H4iB]
AALE. VP40, R UIALR 607. 000 m 828 502,596 | B¥ 15%
000016 fAE (m—% U —s3—F v 3 ) () () ()| A - HA [HifiB]
MEFLE, VP40, R UiAR 28. 000 m 451 12,628 | B 16%
000017 fR:4LE (m—% U —ri=H v a2 R) (nm) () ()| BA - HA [H4iB]
AL, VPT5 28. 000 m 901 25,228 | BH. 175
000018 /K FATEE K U Hifk & = L5k T (m) ) (w )| BA - HA [HHB]
¥y v, N R0 14.000 1 87 1,218 | B¥. 185
000019 AR—V > 7Kkt (m—% V) —r3—D v aK) (n) () ()| BA - HA [HiB]
1. 000 132,612 132,612 | B 19%
000275 i FLJE H/LFL T (0. 000) (0) (0)| A - HA [HAGiB]
4.000 m3 12,419 49,676 | B 275%
(8,975, 107)
s 9,024,783
c e kEEAR—Y LT (4, 953, 000)
AR 1.000 EN 4, 465, 000
000020 AR —V v F (=4 Y ——F v a k) () () (m )| HA - HA [HEB]
¢ 135, BB+, 50m/ALLT 18. 700 m 16, 868 315,432 | BH 205
000021 fEHAR—Y > 7 (m—H U —rS—J v g R) (179. 800) () (2,227,183)] A « HA [HAiB]
690, BYE L. 50m/ALLTF 141. 000 m 12,387 1,746,567 | BH 21%
000022 AR —V 7 (=4 Y —R—F v arX) () (n) ()| HA - HEA [HEB]
$ 90, #E. 50m/ALLT 137. 500 m 14, 454 1,987,425 | BH 22%
000023 {£7LE (m—X U ——H v a k) (314.000) () (259,992)] A - HEA [HifiiB]
HILE, VP40, R TAAZRK 275. 000 m 828 227,700 | B® 23%
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EEZAET LN N e |
(g | S Z 2k ibiEfx (20 1) TH (3 BER) |

IR NCTIR D) k& B H Al & # fii_ &
000024 AL (=% U —ri=T vz i) () () ()| BA - HA [HEB]
SEFLE . VP40, 42 UiAZal 22. 000 m 451 9,922 | BHL 24%
000025 {RALE (m—% U == v a ) (nm) () ()| BA - HA [HAFB]
ML, VPT5 22. 000 m 901 19,822 | B¥. 25%
000026 ki FHREEL AN U Ml B = L kT () () ()| BA - HA [HEB]
*r v 7 ME. 40 11. 000 1 87 957 | BHS 26%
000027 R—V > Z{EEHM (n—% U ——D v ark) () (G ()| BA - HA [HAGB]
1. 000 [} 132,612 132,612 | BH¥ 27%
000276 il FLYE t-AL T (0. 000) (0) (0)] #A - HA [H{fiB]
2. 000 m3 12,419 24,838 | BH: 276%
(4,953, 345)
& &t 4, 465, 275
c AT (65, 000)
A (FLo) 1. 000 X 56, 000
000028 x> 7 Y — k (0. 600) () (18,476)| #A - HLA [HiffiB]
18-8-40 0. 450 m3 30, 794 13,857 | BB 28%
000029 7 fe (4. 900) () (33,398)| #A - HA [H{fiB]
4. 800 it 6,816 32,717 | BY 29%
000030 7 > 7 —fif; (8. 000) () (13,064)| #A « WA [HGB]
D16%1000, Hifhh - & 6. 000 A 1,633 9,798 | BH 30%
(64, 938)
& Gt 56, 372
MO ()
A (R R 1.000 X 654, 000
000031 H#ERY =F L 4% () () ()| HA - HEA [HEB]
675, LN MR 208. 600 m 1,340 279,524 | B¥ 31%
000032 > F A ff & fibkn () () ()| BA - HA [H{iB]
VP ¢ 75/ 14. 000 JIE} 346 4,844 | Bii 325
000033 7kt AR A U Hifk & = A E T () () ()| HA - HA [HFB]
F—RX, A, 15X75 14. 000 [l 1,038 14,532 | B¥ 33%
000034 ZE4a> 4 v b () () ()| BA - HA [HAiB]
DV75X ¢ 75 14. 000 18 956 13,384 | B 34%
000035 7> —fi% (n) (m) ()| HA - HEA [HEB]
D16+1000, Hifpsd > & 209. 000 A 1,633 341,297 | B¥ 35%
()
& @t 653, 581
c AT (106, 000)
AR (FLA) 1..000 X 175, 000
000036 =227 U — k (0. 980) (! (30,178)| #A - A [H{IiB]
18-8-40 2.120 m3 30, 794 65,283 | B¥ 36%
000037 74 (7. 800) () (53,165)| #A - HLA [HiffiB]
8.900 i 6,816 60,662 | BY 37%
000038 7> 41— (14. 000) () (22,862)| #A - HA [H{fiB]
D16%1000, Hifpsd > & 30. 000 EN 1,633 48,990 | BH 385
(106, 205)
N 174, 935
<O T (121, 000)
AR (FEARELE) 1.000 X 314, 000
000039 FHEEARY =F L E (31.900) () (42,746)| #A - HA [HAfiB]
G675, U, EL 96. 800 m 1, 340 129,712 | B¥ 39%
000040 > F A4 = fithsz 11 () () ()| A - HA [HiB]
VP ¢ 75/ 11.000 1 346 3,806 | B 408
000041 sk BEELR U thifk & = L& 1k T (nm) () ()| BA - HA [H4iB]
F—R, NJE, T5XT75 11.000 fi#l 1,038 11,418 | B 41%
000042 24 7 b ) () Cn ) BA - HA DEAB]
V75X ¢ 75 11. 000 1 956 10,516 | B¥ 42%
000043 7 > 1 —f5 (32. 000) () (52,256)| #A - A [H{fiB]
D16%1000, Hifpsd > & 97. 000 EN 1,633 158,401 | BH 435
(120, 742)
& @k 313, 853
i - IR T (1, 277, 000)
1.000 X 1,139, 000
4 BEIET (266, 000)
1.000 & 201, 000
000044 g ERY =F L 4% (23. 000) () (104,972)| #A - A [HAffiB]
$ 250, X7, HiL 15. 000 m 4,564 68,460 | B 445
000045 EEEARY = F L EHE (6. 000) () (14,538)| #A - HiA [HiffiB]
6250, ¥ 7, A1l 4.000 1 2,423 9,692 | B 458
000046 @R Y = F L o kT (n) (m) (m )| HA - HA [HEB]
$ 250, 45° YF—R 3.000 {1 24,2217 72,681 | BH. 465
000047 BEEARY = F L v BT [GZD) () ()| BA - HA [HfiB]
$ 150, 45° YF—X 1.000 1 5,738 5,738 | B¥ 47%
000048 L et (7.100) (m) (28,982)| #A - BLA [HiffiB]
4%, 30~20mm 4.700 m3 4,082 19,185 | B¥ 48%
000049 Ak — k (12. 700) () (22,619)| #A - HA [HffiB]
SRS JEL O 8. 300 it 1,781 14,782 | B 49%
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[ s [ EamBE AR E KRR FE |
(g | S Z 2k ibiEfx (20 1) TH (3 BER) |
4 B O K B h B it % fii_ &
000050 W i L BA1LkF (29. 000) () (16,182)| #A « WA [HffiB]
Y AAER . JE10mm, Tkegf/5em 18. 900 ni 558 10,546 | B¥ 505
(265, 712)
& i 201, 084
+ 5~8 ST (187, 000)
1. 000 K 143, 000
000051 @Ry = L 4% (29. 000) () (66,381)| #A - BLA [HiffiB]
¢ 150, 7, HiL 20. 000 m 2,289 45,780 | B 515
000052 @EEEARY = F L v EkE (7.000) () (7,840)| #A - HA [HifiB]
$ 150, X7 AL 5. 000 i 1,120 5,600 | B 525
000053 AR Y =F L o kT () () ()| HA - HEA [HEB]
$ 150, 45° YF—X 8. 000 5,738 45,904 | B 535
000054 iz AT (6.100) () (24,900)| #A - HA [H{fiB]
4%, 30~20mm 4. 200 m3 4,082 17,144 | BH 54%
000055 AiFEkL— k (14. 500) (n) (25, 825)| A - WA [HAliB]
A= A, L Omm 10. 000 nt 1,781 17,810 | B¥ 555
000056 "%t L B ik bt (29. 000) () (16,182)| #A - HA [Hi{fiB]
Y AMER . JE10mm, Tkgf/5cm 20. 000 ni 558 11,160 | B¥ 565
(187, 032)
= it 143, 398
CASERT ()
1. 000 = 550, 000
000057 @A ) =F L A () () ()| BA - HA [HAiB]
$ 250, o AL 37.000 m 4,266 157,842 | B 57%
000058 @ AR Y = F L o kT () () ()| HA - HEA [HEB]
$ 250, U, MR 9. 000 i 4,026 36,234 | BHL 58%
000059 FEEEARY = F L v EHkE () () ()| BA - HA [H{iB]
$ 250, 45° YF—X 11. 000 JIE} 24,221 266,497 | Bii 595
000060 @AY =F L o kT () () ()| HA - HEA [HEB]
¢ 150, 45° YF—RX 5. 000 1 5, 738 28,690 | B¥ 60%
000061 7> 1 —f5 () () ()| BA - HA [HAiB]
D16%1000, iffsd o X 37.000 A 1,633 60,421 | B¥ 615
(m)
ot 549, 684
+ 5~ 7 HERT (153, 000)
1.000 X 124, 000
000062 B ERY =F L 4% (31.000) () (67,797)| #A - WA [HffiB]
¢ 150, > 7 v, Mgl 25. 200 m 2,187 55,112 | BHL 62%
000063 E#EERY = F L BT (8. 000) () (22,736)| A - HA [H{liB]
$ 150, o AL 6. 000 {1 2,842 17,052 | BHS 63%
000064 @R ) =F L HHET () () ()| BA - HA [HEB]
¢ 150, 45° YF—X 2.000 J[Ei] 5,738 11,476 | B¥ 6475
000065 7 > 41— (31.000) () (50, 623)| #A - HA [H{fiB]
D16%1000, Hifpsd > & 25. 000 EN 1,633 40,825 | BH 655
(152, 632)
o 2t 124, 465
BEE 7S AN Cn)
1. 000 X 121, 000
000066 2243 () () ()| BA - HA [H{iB]
8. 000 AT 2,151 22,056 | B 66%
000067 AiZzk s — k () () ()| HA - HA [HEB]
A= A, JEL Omm 4.800 ni 1,685 8,088 | B¥ 675
000068 Wt L B ikt (nm) () ()| BA - HA [H4iB]
Y AMEE . JE10mm, Tkgf/5em 8. 800 nt 510 4,488 | BHL 6845
000069 FRPZ' L —F > () () ()| A - HA [HifiB]
BA 11 3260%20 ., t=25mmPL |k 0. 960 m 15, 939 15,301 | BH. 69%
000070 ‘HIZE (nm) () ()| BA - HA [H4iB]
5~15cm 0. 600 m3 3,370 2,022 | BH. 70%
000071 i A5 b4 () () ()| HA - HEA [HEB]
AL, 9cmdm, BAIESALEL 5 8. 000 2,095 16,760 | B¥. 71%
000072 7 > 41— () () ()| BA - HA [HiB]
D16%1000, Hispeh - X 32. 000 1,633 52,256 | B 72%
()
& i 120, 971
* PREHEAK B SE i T (925, 000)
1. 000 N 799, 000
- EEHIEE T (584, 000)
1.000 X 459, 000
000073 @i ER Y =F L 4 (44.000) () (443,300)| A « HA [HAGB]
6250, U, AL 34. 000 m 10,075 342,550 | BH. 73%
000074 EEERY = F L BT (11.000) () (44,286)| #A - HA [Hi{liB]
$ 250, oL, MR 9. 000 (e 4,026 36,234 | B 4%
000075 AR Y =F L o FET (n) (m) ()| HA - HEA [HEB]
$ 250, 45° YF—R 1. 000 {1 24,2217 24,227 | BH. 75%
000076 7 > —fff (44. 000) () (71,852)| #A « WA [HffiB]
D16%1000, ififhsd > X 34. 000 A 1,633 55,522 | B¥ 76%
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LEHHIME ( 4/ 13)
[ s [ EamBE AR E KRR FE |
(g | S Z 2k ibiEfx (20 1) TH (3 BER) |
IR NCTIR D) k& B i & # fii_ &
(583, 665)
& gt 458, 533
. EOMT (341, 000)
1. 000 X 340, 000
000077 =2 U —k () (! ()| BA - HA [HAGB]
18-8-40 0. 600 m3 30, 794 18,476 | B 77%
000078 74 f () () ()| HA - HA [HEB]
6. 000 ni 6,816 40,896 | Bl 785
000079 ONUNEIFUB IE A5 (12. 800) () (2,842)| A - HA [H{iB]
D13, #ifnd o X 0. 000 kg 222 0| B¥ 795
000277 ONOYEIALBS 1% (0. 000) (0) (0)] #:A - HA [HifiB]
D13 12. 800 kg 161 2,061 | BHi 2775
000080 LT > B —7RL b () (D ()| BA - HA [HAiB]
SUS. M12, 7vh-K" Wb (FAYyve—. Fob@Ete) 12. 000 ik 2,764 33,168 | BHL 80%
000081 FRPZ' L —F > 2/ () () ()| A - HA [HiB]
BH F13260%2L ., t=25mmPL E 8. 400 nt 15, 939 133,888 | BHi 815
000082 FRPZ' L —F > 7 # & (n) () (m )| BA - A [HEB]
4. 000 e 297 1,188 | BHE 82%
000083 7 > 71—/ b (w) (n) (1 ) A - WA [ETB]
SUS, M12 20. 000 A 1,734 34,680 | B¥ 83%
000084 7 A F v k () (G ()| BA - HA [HAiB]
SUS, M12 12. 000 {i#l 856 10,272 | B¥. 84%
000085 w > Z Rl v v () () ()| A - HA [HfiB]
SUS, M12 12. 000 J(E3 3,060 36,720 | B¥ 85%
000086 7 > 41— () () ()| BA - HA [HAiB]
D16+800, Hfifnd - & 20. 000 A 1,451 29,020 | B¥ 86%
(341, 150)
& i 340, 369
s TV h—T (118, 343, 000)
1. 000 X 127, 293, 000
c T Uh—T (42, 362, 000)
B (=R 1..000 42,008, 000
000087 HIfL (7> 71—) (493. 000) (m) (6,245,817)| #A - HLA [HiffiB]
ZEE AL 91165, BEEL 479. 000 m 12, 669 6,068,451 | BH 875
000088 HIFL (7> %1—) (662. 000) (O (10,183, 546)| A - HiA [HfliB]
—EEHA, 9116, 660. 000 m 15, 383 10,152,780 | B 88%
000089 SHAFTINL - HST - BE9E - EAF - FILE (Tv-) (n) (m) ()| A - HA [HiffiB]
—HPSR. PCE L VAR 63. 000 %S 15, 702 989,226 | B 89%
000130 7' 7 v R7 v H1— (63. 000) () (20,084, 211)| #:A - HA [HffiB]
Td=T40kN/ A, 7 > h — R FH¥)L=18. 84m 62. 000 A 318,797 19,765,414 | B 1305
000278 7' 7 v R7 v H1— (0. 000) (0) (0)] #A - HA [HifiB]
Td=TATKN/A, 7 > B —F F¥)1=18. 84m 1..000 ZN 318, 797 318,797 | BH 278%
000091 757 hEAN (72 71—) () () ()| A - HA [HiiB]
38. 000 m3 49, 292 1,873,096 | B 915
000092 J&Fn#l () () ()| A - HA [HAEB]
AEJBUKFI (B HERY) 94. 000 kg 143 13,442 | BH 92%
000093 R—VY v~ Bk (T h—) (16. 000) () (674,576)| A - HA [HAGiB]
9. 000 42,161 379,449 | BYL 93%
000094 7 E 3 () (G ()| BA - HA [HAiB]
10. 000 3% 229, 832 2,298,320 | B¥. 94%
000279 Kl FLYE AL T (0. 000) (0) (0)] #A - HA [H{fiB]
12. 000 m3 12, 459 149,508 | BHi 2795
(42, 362, 234)
& i 42,008, 483
c T Uh—T (24,991, 000)
B (R 1. 000 N 24,976, 000
000095 K4 (77> %1—) () () ()| A - HA [HifiB]
CEEHA ¢ 1165, BE T 278. 000 m 12, 669 3,521,982 | BHL 95%
000096 HIFL (7> %1—) (nm) () ()| BA - HA [H4iB]
CEE AL ¢ 116, W 542. 000 m 15, 383 8,337,586 | B¥ 96%
000097 SHATHNL - HST - BE0E - E3S - FILE (T/-) () () ()| A - HA [HfiB]
R, PO L 0 AR 45. 000 15,702 706,590 | BH. 97%
000098 25 7> K7 v 91— () () ()| BA - HA [HiB]
Td=487kN/ A, 7 v H — R FH)1L=19. 22m 45. 000 224,874 10,119,330 | Bt 98%
000099 ' Z 7 R¥EA (7 71—) () () ()| A - HA [HiB]
28. 000 m3 49, 292 1,380,176 | B¥ 99%
000100 &l (nm) () ()| BA - HA [H4iB]
AEUKAI (BEHERD) 69. 000 kg 143 9,867 | BHL 1005
000101 R—Y v~ Bk (7rh—) (6. 000) () (252, 966)| #:A - HiA [HifliB]
3. 000 [A] 42,161 126,483 | BH 1015
000102 i EF (! () ()| BA - HA [H4iB]
3.000 J& 220,724 662,172 | BH: 1025
000280 I FLYE f-ALE T (0. 000) (0) (0)] #:A - HA [HfiB]
9. 000 m3 12, 459 112,131 | B 280%
(24, 990, 669)
= it 24,976, 317
- - EEEHEIEERR (0)
L 1. 000 v 866, 000
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LEHHIME ( 5/ 13)
EEZAET IR SIS s
[THa | B2 Lk HEE AR (0 1) TH  (F 3 mEH)
IR NCTIR D) k& HL i & # fii_#&
000281 %' — DT — & I fkIEE (0. 000) (0) (0)| #A - HLA [HiffiB]
10ch/5 . WU 2. 000 =) 264, 976 529,952 | BHi 281%
000282 v hU—2 /T (0. 000) 0) (0)| #A - HLA [HiffiB]
68— b 1. 000 =) 146,194 146,194 | BHi 2825
000283 fgirR v 7 A (0. 000) (0) (0)| #A - HLA [HiffiB]
4T SR 1. 000 = 18,274 18,274 | BH: 283%
000284 75K v A (0. 000) (0) (0)] #A - HA [H{fiB]
I8BT 2 AN 1. 000 = 27, 411 27,411 | B¥ 2845
000285 JmfsH 4o —7 v (0. 000) (0) (0)] #A - HA [H{fiB]
FCPEV_ 0. 9-2P 128. 000 m 90 11,520 | BH: 2855
000286 {57 — 7 v (0. 000) (0) (0)] A - HA [HiB]
FCPEV 0. 9-5P 330. 000 m 173 57,090 | BH 286%
000287 im@fs o7 —7 v (0. 000) (0) (0)] #:A - HA [HifiB]
PNCT 1. 0-4P 354. 000 m 210 74,340 | BHL 287%
000288 A/L M=t 37 H— (0. 000) (0) (0)] A - HA [HiB]
PBC3 22 11. 000 il 101 1,111 | BH 288%
(0)
& @k 865, 892
- fop AR (0)
AR 1.000 Y 719, 000
000289 4 — T — & IR REE T (0. 000) (0) )] A - HA [HAiB)
10ch/% WU 2. 000 =) 38, 750 77,500 | BHi 289%
000290 * v hU— 27 N7 REET (0. 000) (0) (0)] #A - HA [HifiB]
67— b 1.000 =) 18, 822 18,822 | BH 290%
000291 iR v 7 ARk fE T (0. 000) (0) )] A - HA [HAiB)
14T S5 1.000 = 11,254 11,254 | BH 291%
000292 77K v 7 AFiE T (0. 000) 0) (0)| #A - BLA [HiffiB]
18BT 2 1. 000 =) 11, 254 11,254 | BH 2925
000293 515 &7 — 7 VR T (0. 000) (0) (0)] A - HEA [HifiB]
FCPEV _ 0.9-2P 128. 000 m 739 94,592 | B 293%
000294 #1547 — 7 VBT (0. 000) (0) (0)] #A - HA [H{iB]
FCPEV 0. 9-5P 330. 000 m 739 243,870 | BH 294%
000295 5157 — 7V EdR T (0. 000) (0) (0)] A - HA [HiB]
ONCT _1.0-4P 354. 000 m 739 261,606 | BYi 2955
(0)
& &t 718, 898
- ZJEAR (30, 099, 000)
B (R 1.000 FY 37, 833, 000
000103 &4l 452 T4k (63. 000) () (29, 228,409)| #:A - HA [HffiB]
BE] —7) Td=T40kN/A 62. 000 463, 943 28,764,466 | B4 1035
000296 $445% £ 45 (0. 000) (0) (0)| A - HA [HGB]
a7 v —) Td=TATKN/ A 1..000 463, 943 463,943 | BH 2965
000104 Hi1 (LI T (2. 000) () (147,636)| #A - A [HftiB]
FatT > B —7) Td=T40kN/A . H=10cm 0. 000 i 73,818 0| BH 1045
000105 H1 | LI T. (2. 000) () (221,004)| A - HEA [HiB]
Xt T > B —J5 Td=T40kN/AJH, H=20cm 15. 000 i1 110, 502 1,657,530 | BH 105%
000106 Kt L% 7% T (2. 000) () (303, 430)| #A - A [HAffiB]
FatT > B —7) Td=T40kN/A . H=30cm 16. 000 L 151,715 2,427,440 | BYi 1065
000131 Hi1 | L& T (1.000) () (198, 674)| A - HLA [H{iB]
Xt T > —J5 Td=T40kN/AJH, H=40cm 9. 000 i1 198, 674 1,788,066 | BE 131%
000297 i1 | Li&7E T (0. 000) (0) (0)] #A - HA [H{fiB]
T > B —7) Td=T40kN/A M, H=50cm 6. 000 i 241, 461 1,448,766 | B 2975
000298 Hi1 (LI T (0. 000) (0) (0)] A - HEA [HifiB]
Xt T v —J1 Td=T40kN/AJH, H=60cm 4. 000 i1 320,710 1,282,840 | BH 298%
(30, 099, 153)
& @k 37, 833, 051
- ZJEAR ()
FB: (IR 1. 000 K 20, 891, 000
000107 #H5Y% FEK (nm) () ()| BA - HA [H4iB]
AT > —) Td=48TKN/A 45. 000 # 303, 328 13,649,760 | BH 1075
000108 it L T () () ()| HA - HA [HB]
FREET v —7) Td=48TkN/ A, H=40cm 26. 000 il 145,019 3,770,494 | B¥i 108%
000109 H1 | L& T. () () ()| BA - HA [HiB]
BELT v —F) Td=48TkN/ A, H=50cm 19. 000 il 182, 676 3,470,844 | BH 1095
()
& a&t 20, 891, 098
- ER T (1,574, 000)
1.000 EN 1,516, 000
o JEWRT (AN J0/NERR) ()
b BT -~ R MK R AT T G BT 1 20mAS i) 1. 000 N 11, 000
000114 R HAE LR T B HA (1. 800) (m) (11,147)| #A - BLA [HiffiB]
1.700 ton 6,193 10,528 | BH 1145
(11, 147)
& @k 10, 528
< BRI (30, 000)
{8 5 b — 7 )b ~ P 6 o AT G A OmAS i) 1. 000 i 32,000
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RO D) ¥ & HAT HOAf & H i &
000132 #Efrxt3R L VEZEFMAR A () () ()| A - HA [HiiB]
0.500 | ton 3,967 1,984 | BH 1325
000133 P AXIMT. HhRA (7.100) () (28,162)| A - HA [4#B]
7.500 | ton 3,966. 47 29,749 | B 133%
(30, 146)
s 31,733
MR R ) (53, 000)
T~ I T A T GEEAR B 200m A i) 1. 000 e 36, 000
000115 MFiE - BIRT  WHHIRA (20. 200) () (47,046)| #A - HA [HffiB]
13.700 |  ton 2,329 31,907 | B 115%
000116 FFIE « FIET 7 Lkl (8. 000) (n) (6,312)] #A - HHA [HAfiB]
5. 000 m3 789 3,945 | BH 1165
(53, 358)
& F 35, 852
< ERRT ()
HRERE L 1. 000 Y 42,000
000117 ZRIAE{EI L () (n) ()| A - HA [HifiB]
T H—, FEAR 60.800 | ton 683 41,526 | B¥ 1175
()
& F# 41,526
< ERRT (1, 239, 000)
i~ FBET7 v h—, £/ L—/LiElR, JT3E L 160m 1.000 Fy 1,196, 000
000134 LEE7 > —T (285. 200) () (834, 275)| #A - WA [4£%HB]
JiEE 2 st e 270.100 | ton 2,925.22 790,104 | B¥S 13457
000135 LEET > h—T. () () ()| HBA - HA [&#B]
292 41.300 | ton 2,925.23 120,812 | Bt 135%
000136 LE:7 > —T. () () ()| A - HA [£%B]
i 87.800 | ton 2,925.23 256,836 | BH 1364
000137 I3t/ JEA T (1. 800) (m) (5,266)| A - HA [4%iB]
gz 1.700 |  ton 2,925.55 4,973 | Bt 1375
000138 7% 475 T. () () ()| BA - HA [&%B]
S0 0.500 | ton 2,926 1,463 | B 138%
000139 V445 T (7.100) () (20,769)| #A - HA [£#B]
Gt 7.500 | ton 2,925.21 21,939 | Bt 139%
(1, 239, 421)
& F# 1,196,127
T ()
EHIREIL (B L—/) 1. 000 # 190, 000
000140 EMEEH L (7 v 71—, SZEHR) () (n) ()| A - HA [£%B]
41.300 | ton 1,392.08 57,493 | Bt 140%
000141 7&+REEIL (7> —5%+) () () ()| BA - A [&5B]
87.800 | ton 1,392.08 122,225 | BH: 1415
000142 EHFEEIL (P54 %5 TEht) (7.100) () (9,884)| #A - HiA [4%iB]
7.500 | ton 1,392.11 10,441 | B 1425
(189, 602)
& F# 190, 159
< ERRT ()
WHr—7nsL—y 1.000 EN 9, 000
000143 7% 4% T (nm) () ()| BA - HA [HAGB]
[ 7 0.500 ton 1,162 581 | BHL 1435
000144 V5455 T (7.100) () (8,250)| #A - HEA [HiffiB]
23z 7.500 | ton 1,162 8,715 | BH 144%
(8,831)
s 9, 296
AR T (24, 539, 000)
1. 000 EN 25, 891, 000
s r—7RT (1F) (2, 646, 000)
ML 1.000 Y 3,176, 000
000145 #itm—=7 (198. 000) () (86,328)| #A - A [H{IiB]
3X7 ZA0 12¢ 190. 000 m 436 82,840 | B 145%
000146 fitffism e —7 (346. 000) () (150, 856)| A - HiA [HifiB]
3X7T 7A/0 12¢ 375. 000 m 436 163,500 | B 14675
000147 #frz—7 (186. 000) () (81,096)| #A - HA [H{IiB]
3XT7 ZA0 124 188. 000 m 436 81,968 | BHL 1475
000148 ## sk m— 7 (341.000) () (148, 676)| A - HLA [HiiB]
3X7 ZA0 12¢ 364. 000 m 436 158,704 | Bt 148%
000149 #%f+2°) » 7 (EH) (160. 000) () (341,600)| #A - HA [HHB]
12 ¢ X 800 252. 000 PN 2,135 538,020 | BHL 1495
000150 4= += A > R 7 H—B (42.000) () (253, 764)| A - HEA [HifiiB]
D22 (M20) X 1000 43. 000 ES 6,042 259,806 | Bt 1505
000151 =&/ A R 7> H—B (28. 000) (m) (242,172)] #A - A [HAffiB]
D22 (M20) %1500 37.000 %S 8, 649 320,013 | BHL 151 %
000299 +527 U v (0. 000) 0) (0)| #A - HLA [HiffiB]
50 X 95 3. 000 1 2,079 6,237 | BHi 2995
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4 B Bl S HL fifl & fii_#&
000152 +F7>H—2Y v (70. 000) () (129, 920)| #:A - HiA [HiffiB]
50X 95 80. 000 & 1, 856 148,480 | BH: 1525
000153 V27 U » 7 (K) (152. 000) () (141,056)| #A - A [HffiB]
4.0t %109 233. 000 il 928 216,224 | BH 1535
000154 V7 U 7 (/) (865. 000) () (730, 925)| A - HiA [HiftiB]
3.2tX92 934. 000 1 845 789,230 | BHL 154%
000155 4:ifd (145. 000) () (271, 875)| #A - LA [HffiB]
3.2¢ X50X50 173. 000 ni 1,875 324,375 | BHL 1554
000156 #fi#& =1 v (192. 000) () (67,776)| #A - BAA [HiffiB]
3.2 ¢ X 50X 300 245. 000 1 353 86,485 | BYi 15675
(2,646, 044)
& &t 3,175, 882
s e r—7RL (1%) (3,158, 000)
B A 1. 000 Y 3,463, 000
000157 A} s T (252. 000) () (211,680)| #A - A [HffiB]
236. 000 nt 840 198,240 | BHi 1575
000158 7 A ¥ m—7HET. (1, 020. 000) (G (1,558, 560)| #A - HA [HfliB]
3XT7 7A/0 124 1, 063. 000 m 1,528 1,624,264 | B 1585
000159 7 > 77— T. (42.000) () (558, 432)| #A - LA [HAfiB]
AT A Y BT I —B D22 (M20) X 1000 43. 000 A 13, 296 571,728 | BH: 159%
000160 7> —f&ET (28. 000) (G (619, 276)| A - HiA [HifiiB]
AT A b T —B D22 (M20) X 1500 37.000 & 22,117 818,329 | BH 1605
000300 52V v 7iE T (0. 000) (0) (0)] #A - HA [HifiB]
50 X 95 3.000 fiE 255 765 | BH: 3005
000161 +F7>H—2 U v FEAHT (70. 000) () (17,850)| #A - HA [HffiB]
50 X 95 80. 000 {i# 255 20,400 | B¥ 161%
000162 48 (il & =2 A /b)) i (126. 000) () (192,528)| #A - LA [HffiB]
3.2¢ X50X50 150. 000 nf 1,528 229,200 | BH: 162%
(3, 158, 326)
& @k 3,462, 926
- - r—7RL (2%) (2,967, 000)
e 1..000 Y 3, 659, 000
000163 ffit = —7 (189. 000) (m) (82,404)| #A - BLA [HiffiB]
3XT7 7A/0 124 203. 000 m 436 88,508 | B 16345
000164 fiE iz m— 7 (341.000) (O (148,676)| A - WA [HiffiB]
3X7 ZAO 12¢ 481. 000 m 436 209, 716 | BH: 164%
000165 fg = —=7 (197. 000) (m) (85,892)| #A - HLA [HiffiB]
3X7 A0 124 227. 000 m 436 98,972 | BH: 165+
000166 fffinhm—=> (344. 000) () (149, 984)| A - HA [HftiB]
3X7 ZAO 12¢ 458. 000 m 436 199,688 | BHi 1667
000167 %4t ) » 7 (BF) (172. 000) () (367,220)| #A - LA [HffiB]
12 ¢ X 800 198. 000 K 2,135 422,730 | BHL 1675
000168 “A#BMH & A > k7 7 —B (64. 000) () (386, 688)| #:A - HiA [HiffiB]
D22 (M20) X 1000 76. 000 g 6,042 459,192 | BYi 168%
000169 =it A b7 v h—B (7. 000) (n) (60, 543)| A - HLA [HiffiB]
D22 (M20) X 1500 12. 000 N 8, 649 103,788 | BH: 1695
000301 +5227 U v (0. 000) (0) (0)] #A - HA [H{fiB]
50X 95 9. 000 1 2,079 18,711 | BHE 3015
000170 +57 v H—2 ) v (71.000) (G (131,776)| A - HiA [HiffiB]
50 X 95 88. 000 il 1, 856 163,328 | BH 1705
000171 V7 U » 7 (K) (160. 000) () (148, 480)| #A - LA [HffiB]
4. 0t X 109 184. 000 [l 928 170,752 | B 1715
000172 VZ U v (/1) (862. 000) (! (728,390)| #A - WA [HiffiB]
3. 26X 92 1, 159. 000 fi#l 845 979,355 | B 1725
000173 4:#d (290. 000) () (543, 750)| #A - LA [HffiB]
3.2 X50X50 318. 000 nf 1,875 596,250 | BHi 173%
000174 fs&=A v (378. 000) () (133, 434)| A - WA [HifiiB]
3.2 ¢ X50X300 419. 000 () 353 147,907 | B 174%
(2,967, 237)
& Fk 3, 658, 897
s r—7RL (25) (3,179, 000)
2k 1.000 N 3, 945, 000
000175 #}FEFEELT. (252. 000) () (211,680)| A - HiA [HiffiB]
276. 000 ot 840 231,840 | BYi 175%
000176 U A ¥ o — 73R T (1, 020. 000) () (1,558,560)| #A - HiA [HiffiB]
3XT7 ZAO 12¢ 1, 303. 000 m 1,528 1,990,984 | BH 1765
000177 7> /1 —& BT (64. 000) () (850, 944)| A - HiA [HifiiB]
R AV 7> 1—B D22 (M20) X 1000 76. 000 ZN 13, 296 1,010,496 | B 1775
000178 7> % —@kfE T (7. 000) () (154,819) #A - HiA [HfiB]
AEBHE A BT U —B D22 (M20) X 1500 12. 000 EN 22,1117 265,404 | B 178%
000302 +52' U v FfE T (0. 000) (0) (0)] A - HEA [HifiB]
50 X 95 9. 000 [l 255 2,295 | BHL 3025
000179 +57 > B —2"1 v 7HA T (71.000) (m) (18,105)| #A - HLA [HiffiB]
50 X 95 88. 000 ] 255 22,440 | B 1795
000180 41l (it & =2 A /1) B & (252. 000) () (385, 056)| A - HLA [HifiiB]
3.2 ¢ X50X50 276. 000 nf 1,528 421,728 | BH: 180%
(3,179, 164)
& Gt 3,945,187
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LEHHIME ( 8/ 13)
EEZAET IR SIS s
[THa | B2 Lk HEE AR (0 1) TH  (F 3 mEH)
4 B Bl B & HL fifl & fii_#&
s r—7RE (35) (2, 475, 000)
e 1. 000 Y 2,412,000
000181 itz ——7 (147. 000) () (64,092)| #A - HA [HfIiB]
3XT7 7A/0 124 160. 000 m 436 69,760 | BH 1815
000182 fftflinhm—=> (269. 000) () (117,284)| A - A [HAftiB]
3XT7 ZAO 12¢ 331.000 m 436 144,316 | BHi 182%
000183 fgfr —=7 (153. 000) (n) (66,708)| #A - BLA [Hiffi B]
3XT7 7A/0 124 158. 000 m 436 68,888 | B 18345
000184 fiffia m—=> (271. 000) () (118,156)| #A - A [HffiB]
3XT7 ZAO 12¢ 330. 000 m 436 143,880 | BHi 184 %
000185 %442V v 7 (BHY) (118. 000) (! (251,930)| A - HiA [HifiB]
12 ¢ X 800 154. 000 K 2,135 328,790 | BHL 1854
000186 =& A k7 v B —B (11..000) () (66, 462)| #A - WA [HGB]
D22 (M20) X 1000 30. 000 S 6,042 181,260 | BHi 1865
000187 =&ML AL N7 > H—B (34. 000) (G (294, 066)| A - HiA [HifiB]
D22 (M20) X 1500 27. 000 A 8, 649 233,523 | BH 1875
000188 +-# v A7 v 1 — (11.000) () (420, 794)| #A - LA [HAfiB]
(E#EH) 114. 3 ¢ X 4. 51100 (F L) D22 (M20) X 750 3. 000 %N 38, 254 114,762 | BH: 1885
000303 +527 Vv (0. 000) (0) (0)] A - HA [HiB]
50 X 95 1.000 {i#l 2,079 2,079 | B¥ 303%
000189 +F7 > H—2Y v (56. 000) () (103,936)| #A - A [HffiB]
50 X 95 60. 000 fiE 1, 856 111,360 | BH: 189%
000190 V7 U v~ (k) (114. 000) (G (105,792)| A - HiA [HiffiB]
4.0t %109 149. 000 {i#l 928 138,272 | BH: 1905
000191 V7 U » 7 (/N (680. 000) () (574, 600)| #A - A [HffiB]
3.2t X92 825. 000 fiE 845 697,125 | BHL 1915
000192 418 (124. 000) () (232,500)| A - HiA [HiffiB]
3.2¢ X50X50 75. 000 nt 1,875 140,625 | B 1924
000193 #& =1 v (165. 000) () (58, 245)| A - BLA [HiffiB]
3.2 ¢ X 50X 300 105. 000 fi# 353 37,065 | BH: 193%
(2, 474, 565)
& @k 2,411,705
s - r—7RL (3%) (2, 946, 000)
2R 1..000 Y 2, 845, 000
000194 A} ifi e F T (198. 000) (m) (166, 320)| #A - LA [HffiB]
212. 000 nf 840 178,080 | BHi 1945
000195 7 A ¥ m— 7T (800. 000) (O (1,222, 400)| A - HA [HliB]
3X7 ZAO 12¢ 932. 000 m 1,528 1,424,096 | BH: 195%
000196 7 > 77— T. (11.000) (m) (146, 256)| #A - LA [HffiB]
AEBHE A BT —B D22 (M20) X 1000 30. 000 EN 13, 296 398,880 | BH 196%
000197 7> —@tfE T (34. 000) () (751,978)| #:A - HiA [HiffiB]
A A Y BT —B D22 (M20) X 1500 27.000 EN 22,1117 597,159 | B 1975
000198 7> —@tfE T (11.000) (nm) (479,578)| #:A - HiA [HifiB]
o v EH T > — D22 (M20) X 750 3. 000 A 43,598 130,794 | BH 1985
000304 +527 U v FEE T (0. 000) (0) (0)| #A - HLA [HiffiB]
50X 95 1..000 1 255 255 | BHi 3045
000199 +F7>h—2 ) v FHBET (56. 000) (! (14,280)| #A - HA [H{fiB]
50 X 95 60. 000 il 255 15,300 | BH 199%
000200 48 Gili & =2 A /L) B iE L (108. 000) () (165,024)| #A - A [HAffiB]
3.2 X50X50 66. 000 nf 1,528 100,848 | BHi 2005
(2,945, 836)
& &t 2,845,412
cen—7HT (15) (338, 000)
B 1.000 EN 316, 000
000201 fftz—7 (26. 000) () (13,988)| #A - HLA [HiffiB]
3XT7 ZN0 144 17. 000 m 538 9,146 | B 2015
000202 fr1——7 (57. 000) (G (30,666)| #A - HA [HfiB]
3X7 7A/0 14 ¢ 25. 000 m 538 13,450 | B 202%
000203 %4t ) » 7 (BFY) () () ()| HA - HEA [HEB]
14 ¢ X 1100 16. 000 A 2,311 36,976 | BHL 203%
000204 HEAE AL R T > H—A (nm) () ()| BA - HA [H4iB]
D25 (M24) X 1000 16. 000 IS 8,343 133,488 | BH: 2045
000205 +527 U v~ () (n) ()| A - HA [HfiB]
70X 102 15. 000 18 3,193 47,895 | B 205%
000206 % —> /3 7L () () ()| BA - HA [HiB]
22 ¢ 13. 000 18 3,545 46,085 | BIi 20645
000207 % — /3w 7 VEUHEY) () (n) ()| HA - HA [HEB]
13. 000 fE 2,221 28,951 | BHi 207%
(338, 049)
i 315, 991
cen—7HT (15) (391, 000)
2k 1. 000 N 317,000
000208 4} i L T (4. 000) (m) (3,360)| #2A - A [HffiB]
3. 000 nf 840 2,520 | BHL 2085
000209 U A ¥ —n—FHET (83.000) () (148,072)] A - HEA [HifiB]
3XT ZNO 144 42.000 m 1,784 74,928 | B 2095
000210 7> % —@fE T (n) (m) ()| HA - HEA [HEB]
AR AV TV —A  D25(M24) X 1000 16. 000 14,703 235,248 | BH 2105
000211 +5 7'V v 7#&E T () () ()| BA - BA [HAB]
70 %102 15. 000 255 3,825 | BHi 2115
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TR uE 9/ 13)

EEZAE TN TS IE e

[ CHg | &I F skiukmxd® (2o 1) TH (G 3EE)

IR NCTIR D) k& B i & # fii &
(390, 505)
& @t 316, 521
e ) (839, 000)
e 1.000 X 624, 000
000212 itz ——7 (48.000) () (20,928)| #A - HA [HIiB]
3XT7 7A/0 124 57. 000 m 436 24,852 | B 21245
000213 fgm —=7 (77. 000) () (33,572)| #A - BLA [HiffiB]
3XT _ZA0 126 86. 000 m 436 37,496 | BH 213%
000214 %4427V v 7 (B () (! ()| BA - HA [HAB]
12 ¢ X 800 22.000 K 2,135 46,970 | BH 2145
000215 s&{RHE A > R 7 v I —A (16. 000) () (95,184)| #A « WA [HGB]
D22 (M20) X 1000 19. 000 P 5,949 113,031 | BH: 2155
000216 LA e —77 > — (6. 000) () (129, 186)| A - HiA [HifiiB]
TX7 _7ZA/0 18 $ -3000 3. 000 A 21,531 64,593 | BH 2165
000217 + kv (6. 000) () (365, 838)| #A - LA [HffiB]
16 X360 X560 318.5 ¢ X6.0-300 3. 000 A 60, 973 182,919 | B 2175
000218 -2 Y v 7 () (G ()| BA - HA [HAiB]
50 X 95 30. 000 {i#l 2,079 62,370 | BH 2185
000219 & —> /3y 7 L () () ()| HA - HA [HFB]
22 ¢ 17. 000 1A 3,545 60,265 | BH: 219%
000220 % —> /3y 7 LEUS i (11..000) () (24,497)| %A - HiA [HiffiB]
14. 000 1# 2,227 31,178 | BH: 220%
(838, 810)
N 623, 674
s u—7HI (25) (1, 492, 000)
SRty 1. 000 X 1,026, 000
000221 #}FEFEELT. (10. 000) () (8,400)| #xA - HA [HifiB]
12. 000 m 840 10,080 | BHi 221%
000222 U A ¥ —73RT (124. 000) () (189, 472)| #A - HEA [HAfiB]
3X7 7ZA/0 124 143. 000 m 1,528 218,504 | B 2225
000223 7> —%ET (16. 000) () (212,736)| A - HiA [HifiB]
AT A Y BT —A D22 (M20) X 1000 19. 000 EN 13, 296 252,624 | B 223%
000224 7> —{E T (6. 000) (m) (844, 380)| #:A - HiA [HfliB]
ERGEH 2 — 77 v — (LI 2. 0om Bl FLEE : ¢ 65) 3. 000 S 140, 730 422,190 | B 2244
000225 " KL% T. (6. 000) (n) (229,074)| #A - HA [HftiB]
16X 360X 560 318.5 ¢ X6.0t=300 3. 000 # 38,179 114,537 | BHi 2255
000226 +527'V v I ET (n) (m) (m )| HA - HA [HEB]
50 X 95 30. 000 il 255 7,650 | BH 226%
(1,491,712)
N 1,025, 585
< HADEMLT (15) ()
e 1..000 X 2,323, 000
000227 SZAMEM £ v k () () (o )| BA - A [HfiB]
12. 000 i 7,907 94,884 | BY 227%
000228 & —> /3y 7L () () ()| HA - HA [HGB]
HDZ35-W3/4 2. 000 1 8,575 17,150 | B#i 228%
000229 Bh#ldr /x— (n) () ()| A - HA [HB]
6. 000 m 835 5,010 | BY 229%
000230 s 2 —7 () () ()| HA - HEA [HEB]
D12 64. 000 m 334 21,376 | BHL 230%
000231 [&7E M 1 —7 () () (o )| BA - A [HffiB]
D16 39. 000 m 3,118 121,602 | BH 2315
000232 kA » b () () ()| HA - HA [HEB]
25] 1.000 4 126, 865 126,865 | BH: 23258
000233 #Exm—7% v k (nm) () ()| BA - HA [H4iB]
SRING 1..000 il 49, 001 49,001 | BH 2335
000234 VA ¥—n—7 () () ()| HA - HEA [HEB]
6X 246 59. 000 m 780 46,020 | BHi 2345
000235 A ¥ 2 Y v (nm) () ()| BA - HA [H4iB]
F12 8. 000 fi#l 780 6,240 | B 235%
000236 #kife+ > b () () ()| HA - HEA [HEB]
H=2. 5m, L=5.0m 10. 000 L 157, 862 1,578,620 | BHi 236%
000237 7 v 7 () () ()| BA - HA [HiB]
50. 000 1 1,114 55,700 | B 2375
000238 A > am v () (n) ()| HBA - HA [HAGB]
AB450W 50. 000 g 223 11,150 | B¥ 238%
000239 #  F A (nm) () ()| BA - HA [H4iB]
19%500mm 50. 000 A 2,784 139,200 | B 2395
000240 7> — () () ()| A - HA [HfiB]
H 22 4L ¢ 28. 5mm X 1000mm 4.000 g 5,902 23,608 | BHL 240%
000241 75— () () ()| BA - HA [H4iB]
EER N 2. 000 1A 2,896 5 792 | BHi 2415
000242 F » 7HEHIE > b (n) (m) (m )| HA - HA [HEB]
¢ 50 2.000 {1 10, 468 20,936 | BH 2424
()
& @k 2,323,154
- AR T (15) ()
ZUER 1.000 X 631, 000
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EEZAE TN TS IE e

[ CHg | &I F skiukmxd® (2o 1) TH (G 3EE)

IR NCTIR D) k& B i # fii_ &
000243 ~7AHESf T () () ()| A - HA [HiiB]
8. 000 A 8,843 70,744 | BHL 243%
000244 SZREEGART. (R 3HE) (nm) () ()| BA - HA [HAFB]
H=2. 5m, A7 L 1. 000 A 45,142 45,142 | BH 2445
000245 %% @& T () () ()| A - HA [HiiB]
1.000 P 13, 264 13,264 | BH: 2455
000246 7 A ¥ —F&ET. () () ()| HA - HA [HFB]
6%24G 57. 000 m 992 56,544 | BH 2465
000247 fkifer » b ki T () () ()| HA - HA [HEB]
H=2. 5m, L=5. 0m 10. 000 # 39, 880 398,800 | B 2475
000248 4T () () ()| BA - HA [HAB]
B2 4L 2. 000 N 21,839 43,678 | BHi 2485
000249 EAFTRET () () ()| HA - HEA [HEB]
B b, Ktk 0.010 m3 254, 591 2,546 | BHL 249%
()
& 3 630, 718
< HEADEML (25) ()
e 1. 000 X 914, 000
000250 ~SEAEM £ > b () () ()| HA - HEA [HEB]
8. 000 L 7,907 63,256 | BH: 250%
000251 % —> /3y 7 v () () (o )| BA - A [HEfiB]
HDZ35-W3/4 2. 000 {i#l 8,575 17,150 | BH 251%
000252 Byt Jr 3 — () Cn) (o )| BA - BEA [HHB]
4.000 m 835 3,340 | BHi 2525
000253 ik 1 —7 () () (o )| BA - HA [HffiB]
D12 28. 000 m 334 9,352 | BH 253%
000254 [HEfHm—7 () () ()| HA - HEA [HEB]
D16 25. 000 m 3,118 77,950 | BH 254%
000255 7 A ¥—p—7 () () ()| BA - HA [H{iB]
6 X 246G 29. 000 m 780 22,620 | B 255%
000256 VA Y27V v () () ()| HA - HEA [HEB]
F12 8. 000 {i# 780 6,240 | B 256%
000257 ki >~ b () () ()| BA - HA [HAiB]
H=2. 5m, L=5.0m 4.000 # 157, 862 631,448 | BHi 2575
000258 7 &~ (n) (m) ()| A - HA [HffiB]
20. 000 fE 1,114 22,280 | BY 258%
000259 A > am vy (nm) (O ()| BA - HA [H4iB]
AB450W 20. 000 ES 223 4,460 | BHL 2595
000260 # 77 kit (n) (m) (m )| HA - HA [HEB]
19%500m m 20. 000 N 2,784 55,680 | BH 260%
()
N 913, 776
< HADEML (25) ()
e 1.000 240, 000
000261 7 A Heff T. () (! ()| BA - HA [HAiB]
6. 000 8, 843 53,058 | BH: 261%
000262 71 ¥ —gfi L. (n) (n) () BA - WA DEEB]
6%24G 28. 000 m 992 27,776 | BHL 262%
000263 f#kifi+ ~ baxE LT () () ()| BA - HA [HAiB]
H=2. 5m, L=5.0m 4. 000 i 39, 880 159,520 | BH: 2635
()
& &t 240, 354
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LEHHIME 11/ 13)
[ s [ EamBE AR E KRR FE |
(g | S Z 2k ibiEfx (20 1) TH (3 BER) |
RO D) ¥ & HT il & H i &
LR (kL) ()
34,199, 000
R T (nm)
1. 000 K 34,199, 000
LERE P (nm)
1. 000 X 567, 000
000118 22 i 75 & () () ()| HA - HA [HFB]
49. 000 A 11,572 567,028 | B¥ 118%
()
& 567, 028
- R ()
1. 000 X 9, 365, 000
000119 &4 (%) (m—xY—r—H v arX) () () ()| A - A [HB]
K& A=Y 7T CERHRRD 60. 000 Z%m3 3,359 201,540 | BH 1195
000120 /& (M) (m—%Y——=F v arX) () (n) ()| A - HA [HiB]
KEEAR—Y 7T (G 19. 000 7¢m3 3,359 63,821 | B 120%
000121 EHT. (7 H—) () () ()| A - A [HB]
Trh—T B CGERHRMAD 2,007. 000 ZEm3 3,235 6,492,645 | BHL 1215
000122 2L (7> H—) () () ()| HA - HEA [HEB]
Tyh—T. FE (FIBUHR) 806. 000 Zém3 3,235 2,607,410 | BH 122%
()
& i 9, 365, 416
© e ERRE S L— T ()
1. 000 X 22,503, 000
000264 & / L —/L445% () () ()| HA - HEA [HEB]
3tifk 160. 000 m 21,349 3,415,840 | BH 264%
000265 &/ L— /Lt () () ()| BA - HA [H{iB]
60. 000 m 14,784 887,040 | BH 265%
000266 ) /) Hi &k () () ()| A - HA [£%B]
3 thE, A4’ K. 7 H A 1. 000 X 5, 147, 580 5,147,580 | BH 266%
000267 V 7 % —H B () () ()| HBA - A [&5B]
3thi. 7HH 1.000 X 3,929, 236 3,929,236 | BHL 2675
000268 L —/LHBES kL (n) (m) ()| A - HA [£%B]
3%, L— M L=160m. 6 4 A 1. 000 A 8, 205, 840 8,205,840 | BHiL 268%
000269 L —/ LBk Sk (n) (m) (m )| HBA - HA [&#B]
3%A, L— VMM L=100m, 1 #H 1..000 X 474, 867 474,867 | BHL 269%
000270 A5 £ 4t (m) () ()| BA - A [&%B]
1.000 X 41,762 41,762 | BH 2705
000271 B4 fr 2 () () ()| A - HA [£%B]
1.000 =X 270, 528 270,528 | B 271%
000272 5| Hui & # (n) (m) ()| A - HA [£%B]
L —/VEL=60m5y 1. 000 A 37,122 37,122 | BHL 2725
000273 sifpe () () ()| A - HA [£%B]
1.000 92, 806 92,806 | B 273%
()
& i 22,502, 621
c BT LU RE BT ()
1.000 X 1,764, 000
000274 i r—7 N7 L— L iRiE - ik () () ()| HBA - HA [4FB]
1t 2. 000 881,923 1,763,846 | B 2745
()
& i 1,763, 846
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LEHHIME ( 12/ 13)
EEZAET IR SIS s
[THa | B2 Lk HEE AR (0 1) TH  (F 3 mEH) |
4 B Bl B & HAL fifl il fig_*&
Wit 7% (0)
82, 000
- L (B L) (0)
1. 000 Y 82, 000
- e T (0)
1.000 Y 82, 000
000305 fXf (0. 000) 0) (0)| #A - BLA [HiffiB]
16cmBh =22 cm A 2. 000 ZN 189 378 | BH 3055
000306 4] (0. 000) (0) (0)] #A - HA [H{fiB]
16emBL F-22em A 2.000 A 106 212 | BH: 306%
000307 i+ (0. 000) (0) )] A - HA [HAiB]
16cmBh =22 cm A 2. 000 ZN 100 200 | BH 3075
000308 {if (0. 000) (0) (0)] #:A - HA [HifiB]
22cemb 28 em A i 1. 000 %N 234 234 | BHi 308%
000309 4] (0. 000) (0) (0)] A - HA [HiB]
22cemPh 28 cm Al 1. 000 ZN 120 120 | BH 309%
000310 A fF (0. 000) (0) (0)] #:A - HA [HifiB]
22cemb 28 em A i 1. 000 A 122 122 | B 310%
000311 It (0. 000) (0) (0)] A - HA [HiB]
28cmPh b 7. 000 ZN 283 1,981 | BH 311%
000312 Eb) (0. 000) (0) (0)] #A - HA [HifiB]
28cmPA |- 7.000 A 134 938 | BH: 3125
000313 frft (0. 000) (0) (0)] A - HA [HiB]
28cmPh b 7. 000 ZN 139 973 | BH 3135
000314 f&AFHA (0. 000) (0) (0)] #A - HA [HifiB]
11.000 m3 3,199 35,189 | BH: 314%
000315 & ATEHE (0. 000) (0) (0)] A - HA [HiB]
11..000 m3 1,575 17,325 | BH: 315%
000316 4L5y%% (0. 000) (0) (0)] #A - HA [H{iB]
11. 000 m3 2,200 24,200 | BH: 316%
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TR U e ( 13/ 13)
EEZAE T CIEN - JSIEE2 |
[THa | B2 Lk HEE AR (0 1) TH  (F 3 mEH) |

IR NCTIR D) k& B i & # fii_ &
HepfiE B (3, 694, 000)
3,698, 000
- FRpl R (3, 694, 000)
1. 000 K 3, 698, 000
< T U R ()
1. 000 X 2, 669, 000
000123 5lHEABRIN 7 > U — (n) (m) (m )| HA-HA [&#B]
Td=834kN/A, 24X 1. 000 = 1, 810, 325 1,810,325 | B¥ 1235
000124 5|43k () () ()| HA - HA [HEB]
AR 2. 000 A 317,879 635, 758 | BHL 1245
000125 5| ki () (G ()| BA - HA [HAB]
FRAT 55 5 #e 2. 000 N 111, 300 222,600 | B 1255
()
= it 2, 668, 683
o TEFv IR (495, 000)
F—aT . $66 1..000 X 498, 000
000126 +EAR—Y 2 (6. 300) (n) (220, 399)| #A - HA [HftiB]
BER LT Y 1), 50mbh T, £ T 3. 900 m 34,984 136,438 | BH 126%
000127 &R —Y v 7 (7.900) (n) (274, T15)| BA - HA [HAGiB]
HRE, B0mLL B, & B 10. 400 m 34,774 361,650 | B 1275
(495, 114)
& i 498, 088
s HEF ey IR—Y T (530, 000)
F—a7. $66 1.000 X 531, 000
000128 +EA—Y 7 (7. 700) () (269, 377)| A - HA [HAiB]
BER T Y -1, 50mbA T, £ T 12. 400 m 34,984 433,802 | BHL 1285
000129 ‘HAEAR—Y v (7. 500) () (260, 805)| A - HiA [HiffiB]
R, 50mPL B, AR B 2.800 m 34,774 97,367 | BHL 129%
(530, 182)
& i 531, 169
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M7 By 2 Bk ( 1/ 15)

[ s [ EamBE AR E KRR FE
[TH4 | 5 Lk iEmR R (0 1) TH  (F 3 ®)
a—F L O D) B & HAL fifl & fii %=
kkk BHL— 18 kkok
000001 | #1
()
B 1 m3 4, 600 A A
kkk BHL— 28 kkok
000002 | iR Y
(!
B 1 m3 1,727 A A
kkk BH-— 35 k%%
000003 | R iR b
()
B 1 m3 7,431 A - A
kskk BH— 45 skkk
000004 | A JFiiA
(!
B 1 m3 2,471 A - A
kkk  BHL— 55 kkx
000005 | fifid (Jb—X)
(G
R 1 m3 1,429 HA A
kkk BHL— 65  kkx
000006 | ¥ i #E
(G
BT ot 1,217 A A
kkk BH-— 75 k%%
000007 | ik #E A
()
HoE | nf 2,929 HA - HA
kskk BH— 85 skxkk
000008 | - b4 ififif
()
m3 15,975 BA - HA
kkk BHL— 95 kk %
000009 |fEHAR—Y v 7 (=2 Y == v aX)
()
¢ 135, HE 1, 50m/ A 2 m 19,127 HEA - A
kskk BH— 105 kokk
000010 |$EHAR—Y v 7 (=2 Y —r8—F v 3 K)
(O
¢ 135, EE 1, 50m/ARLLT m 16, 868 HA - HA
kkk BH— 1175 sksk*k
000011 |#EHAKR—Y v 7 (=2 Y —X—F v 3 K)
()
90, M T, 50m/ A X m 13, 990 HEA - WA
%k k  BH— 125 skskok
000012 |$EPAR—Y v 7 (=2 Y —r8—FH v 3 H)
()
90, BB, 50m/ALLF m 12, 387 HA - HA
kkk BHL— 135 %ok
000013 |fEHAKAR—Y v 7 (=2 VY —s8—F v 3 X)
()
90, WA, 50m/ A % m 16,194 HEA - A
kkk BHL— 145 sk okk
000014 |fEHAR—Y v 7 (=2 Y —s8—F v 3 X)
()
90, WE, 50m/ARLL T m 14,454 HEA - HA
kkk BHL— 158 % okk
000015 | AL (m—% Y — "—h v a3
()
HILE, VP40, R UIALA m 828 HBA - HA
kkk BHL— 165 % k%
000016 | RILE (n—FV—nR=F v arX)
()
MEFLA . VP40, R UAAZRK m 451 HEA - HA
kkk BHL— 1785 %k
000017 |[RILE (n—=FV—R=D v arX)
()
JEFLAE . VPT5 m 901 HEA - A
kkk BHL— 185 sk okk
000018 | AKIE FIREEL A U Hifb & = VE KT
()
Xy o7 ML R4 fi#l 87 HA A
kkk BHL— 198 %ok ok
000019 | R —V v 7R (m—% U —3—F v 3 X)
()
5] 132,612 A - A
kkok BHL— 208 %ok ok
000020 |SEHAKA—V 7 (m—2 U ——F vy arX)
(m)
¢ 135, BEET L. 50m/ALLT m 16, 868 HA A
kkk BHL— 215 %k
000021 |BEHAKA—V T (m—=2 U —N"—=FyvarX)
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$ 90, BEE . 50m/ALLT m 12, 387 HA - HA
kkk  BHL— 228 sk okk
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()
MEFLE ., VP40, R UiAAK m 451 HEA - HA
kkk BHL— 258 sk okk
000025 [{RALE (m—2 V) —/3—=H v g K)
()
fEfLE . VP75 m 901 A - A
kkk  BHL— 268 % kk
000026 | A GEHIREEL A U ik & = VAT
()
Xy v 7 AME, 40 & 87 HRA - HA
kkk  BHL— 2785 %k
000027 | R—Y v 7R (n—2 V) — "=y a X))
()
132,612 WA - A
kkk BHL— 288 % okk
000028 |=t> 2 ) — k
()
18-8-40 m3 30, 794 WA - A
kkk BHL— 298 % okk
000029 | 4 F
()
nf 6,816 A - A
kkok BHL— 308 %ok ok
000030 | 7 > 51—
()
D16%1000, Hifpsd > & & 1,633 HA - HA
kkk BHL— 315 %k
000031 | HEEARY =F L
(m)
G675, N AL m 1,340 HA - HA
kkk  BHL— 328 %k kk
000032 | ¥ AAfF X Fibr b
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VP ¢ 758 1 346 HA - A
kkk  BHL— 3385 %ok
000033 | AKIEFIREEL A U Hifb & = VE KT
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F—X, M, T5X75 il 1,038 HA - HA
kkk BHL— 348 % okk
000034 | ZE4Y 7 > b
()
DV75X ¢ 75 1 956 HBA - HA
kkk  BHL— 358 % okk
000035 | 7 > 71 —fif
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D16%1000, Hifpsd > & N 1,633 HA - HA
kkk  BHL— 368 % kk
000036 | =127 J—k
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kkk BHL— 378 % okk
000037 | I H
()
g 6,816 HA - A
kkk BHL— 388 % okk
000038 | 7" > 71 —fif
()
D16%1000, Hifpsd > & IS 1,633 HA - HA
kkk BHL— 398 % okk
000039 | BEEARY =F L
()
$ 75, U, AL m 1,340 HEA - HA
kkok BHL— 408 %ok ok
000040 | > E AT X fitb 0
()
VP ¢ 7558 {18 346 A - BA
kkok BHL— 418 %ok %k
000041 | A8 JARELAR U ik © = VEHET
()
F—X, MF. T5XT5 & 1,038 HA - A
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000042 | ZE#L Y 4 b
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kkk  BHL— 458 %ok ok
000045 | MEEARY = F L EET
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$ 250, X7 AL i 2,423 HA A
kskk BH — 465 kok ok
000046 | MEEARY = F L Eik T
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¢ 250, 45° YF—R [} 24,2217 HBA - HA
kskk BH— 4785 skoxk
000047 | MBEARY = F L EET
()
$ 150, 45° YF—R [} 5,738 HA - HA
kskk BH — 48% kok ok
000048 | HURLEE ff7
()
45, 30~20mm m3 4,082 HA A
kskk BHL— 495 skok ok
000049 | RiF/k v — b
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AR 2, JE1. Omm ot 1,781 A A
kskk BH— 505 skok ok
000050 | W LB 1k #4
()
Y U ABHER . JE10mm, Tkef/5cm nf 558 HA - HA
kskk BH— 515 koxk
000051 | EEEAY =F L
()
6150, # 7). HAL m 2,289 BA - HA
kskk BH— 525  kokk
000052 | FEHER Y =F L o kT
()
6150, X7, HiL 18 1,120 A - HA
kskk BH— 535 kokk
000053 | # R Y =F L kT
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¢ 150, 45° YF—X fiE 5,738 WA - A
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000054 | HURLEE fefr
()
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000055 | Rk v — b
()
A= A, JEL Omm m 1,781 HA A
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000056 | W H L BA IE#4
()
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kkk BHL— BT % okk
000057 | HBEAY =F LU E
()
$ 250, UV, MR m 4,266 HEA - A
kkk BHL— 58F % okk
000058 | #i AR Y =F L kT
()
6250, UL, L ) 4,026 A - A
kkk BHL— 59F % ok ok
000059 | FEERY =F LU HkT
()
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000060 | FiEERY =F L HkT
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kkk BHL— 615 % kk
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()
D16%1000, Hifpsd > & IS 1,633 HA - HA
kkok BHL— 6205 %ok ok
000062 | HHEEARY =F L
()
$ 150, 7, ML m 2,181 HA A
kkok BHL— 635 % okk
000063 | MEEARY =F L v EikT
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kkk BHL— 695 %k k
000069 |FRPZ' L —F > 7
()
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kkk BHL— 7085 %ok ok
000070 | EIFAH
()
5~15cm m3 3,370 WA - A
kkk BHL— 715 sk okk
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000072 | 7 > 1 —ff
()
D16%1000, Hifpsd > & A 1,633 HA - HA
kkk BHL— 7385 sk okk
000073 | BEHBEARY =F L
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$ 250, UL, AL m 10,075 HA - A
kkk BHL— 745 sk ok ok
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kkk BHL— 758 %ok ok
000075 | MEEARY =F L L Eik T
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000076 | 7 > 91 —fif
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D16%1000, Hifnsd > & A 1,633 HA - HA
kkk BHL— 7785 % okk
000077 |22 7 J— |
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18-8-40 m3 30, 794 HA A
kskk BH— 785 kxk
000078 | Ffp
()
nf 6,816 HA A
kskk BH— 795 skokk
000079 | OOVEIFUBA 1L
()
D13, Hignd - & kg 222 HA - A
kskk BH — 805 kokk
000080 |LF7 > —R /L k
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SUS, M12, 7vi—& wb (FUyva—, tobaEde) i1 2,764 HA - HA
kskk BH — 815 kxxk
000081 |[FRPZ L —F > 7
()
BA A #260%L2L 1, t=25mmPA b ot 15,939 HA A
kskk BH— 825 kxxk
000082 |FRPZ L —F v V&
()
# 297 HEA - A
kskk BH — 835 kxk
000083 | 77 > 71 —7R/L b
()
SUS, MI12 A 1,734 A - HLA
kskk BH — 84% kxk
000084 | 7 A F v b
()
SUS, M12 & 856 HA - A
kskk BH — 855 kxk
000085 [m > 7Ry v L
()
SUS, M12 [ 3,060 HRA - A
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000086 | 77 > 1 —f
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D16%800, Hiffs o X A 1,451 A - WA
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kkk  BHL— 878 %k
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—EEHA, 115, ME L m 12, 669 HBA A
kokok BHL— 885 ok okk
000088 |HIFL (7 H1—)
()
—EEHA 115, #E m 15, 383 HA A
kskk BH — 895 kokk
000089 | BHAAIN T, « 47 - BRAE - 7ER5 - BAERALEE (F/h-)
()
—EPi A, PCHE L D AR N 15, 702 HA - WA
kskk BH— 915 skokk
000091 | 7 Z 7 bEAN (T H1—)
()
m3 49, 292 HA - HA
kskk BH— 925 kokk
000092 | JE Fnl
()
AEJBUK I (FFHERY) kg 143 HA - HA
kok ok BHL— 935 skockok
000093 | R—V > = B% (T h—)
()
1] 42,161 A A
kok ok BHL— 9475 skoskok
000094 | fiif it
()
s 229, 832 HA - A
kskk BH — 955 kokk
000095 |HI4L (7 J1—)
()
CEE L, 9115, MUE+ m 12, 669 HEA - A
kskk BH— 965 kok ok
000096 |HI4L (7 J1—)
()
—EEHA 9116, #RE m 15, 383 HEA - A
kskk BH— 975 koxk
000097 | FHAAANT. « KN - BRIE - G4 - SHLER (Tvh-)
()
RS, POSH L 0 AR A 15, 702 HRA - A
kok ok BHL— 9875 skosk ok
000098 | 75 U v K7 v T —
()
Td=487kN/ A, 7 > 1 — R F-HL=19. 22m A 224,874 WA - A
kskk  BHL— 995 sk ok ok
000099 | 7T U MEA (T~ F1—)
()
m3 49,292 A - HA
kokok BHL— 1005 %k %
000100 | JEEFNF
()
AEBRF (FFEER) kg 143 A - HA
kkok BHL— 1015 ok ok
000101 |[R—=VY v 7~ B (T h—)
()
=] 42,161 HEA - A
kokok BHL— 1025 sk ok ok
000102 | fiff i+
()
#* 220,724 HEA - A
kkok BHL— 1035 sk ok ok
000103 | $iRLs2 FEAR
()
BREHT v H1—7) Td=T40kN/AH #* 463, 943 HEA - A
kokok BHL— 1045 %ok ok
000104 | Mt (L& T
()
FREET v —7) Td=T40kN/AF, H=10cm AL 73,818 HEA - A
kkk BHL— 1055 sk k ok
000105 | H1(LIFEH T
()
AT > —) Td=T40KN/A S, H=20cm AL 110, 502 A - A
kokok BHL— 1065 %k %
000106 | M [LIFEH T
()
it T v —J1 Td=T40kN/AJH, H=30cm i 151,715 HA A
kkok BHL— 1075 %ok ok
000107 | #R=2 FERR
(m)
AT v — Td=48TkN/ A ¥k 303, 328 HA A
kokok BHL— 1085 sk k %
000108 | M [LIFEH T
(m)
W&atT v 1 —7) Td=48TkN/AJH, H=40cm el 145,019 HA - HA
kokok BHL— 1095 sk k%
000109 | H#LIFEHE T
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T v —7) Td=48TKN/A, H=50cm el 182, 676 HRA - A
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000114 | FEHEAREGER T B HA
()
ton 6,193 BA - HA
kskk BH — 1155 %k %k
000115 |HFIE - FIRT. A
()
ton 2,329 BA - HA
kkok BHL— 1165 k%
000116 |WFHE - BT 7% i
()
n3 789 A - A
kkk BHL— 1175 %ok
000117 | BRI R4EIL
()
T H—, ZIEMR ton 683 HRA - HA
kkok BHL— 1185 sk kk
000118 | A it s 3 e fif 5
()
A 11,572 HRA - HA
kkok BHL— 1195 sk ok ok
000119 | & (M) (m—FJ—_—F v g RA)
()
K E A=Y 7T (GERIR) Z8m3 3,359 WA - A
kokok BHL— 1205 %ok ok
000120 | J&dF (1) (m—F U —n—F v g RA)
()
KiEEAR—Y 7T (EIRERA) ZZm3 3,359 HA - WA
kkock BHL— 1215 %ok ok
000121 [ @B T (7> H—)
()
ToA—T  EB CGERER) ZEm3 3,235 HA - A
kkok BHL— 1225 kok ok
000122 | @ T (7 H—)
(m)
Trh—1T  FE (R ZEm3 3,235 A - A
kkok BHL— 12385 sk ok ok
000123 | 5l HakBRA 7 o B —
(m)
Td=834kN/A, 24 X 1,810, 325 HA - HA
kokok BHL— 1245 sk ok ok
000124 | 5l kiR
()
RBR B Z 317,879 HEA - A
kkok BHL— 1258 sk ok ok
000125 | 5l kiR
()
NT 95 5 % N 111, 300 A - A
kskk BH— 1265 kkx
000126 | +EAR—Y v 7
(!
BIRU Y LW, 5mLA T, #O TS m 34,984 HA - A
kskk BH— 1275 kskx
000127 | AR —Y 7
(G
HOE . 50mEL T, AHD T 5 m 34,774 HA - HA
kskk BH— 12858 kskx
000128 | LA —Y 7
()
BRU Y LW, 5mLA T, RO TS m 34,984 A - A
kskk  BH— 1295  kskoxk
000129 | AR —Y > 7
()
s, 50mEL T, Ahd T m 34,714 HA - HA
kskk BH— 1305 kskox
000130 | 7T 7 R7 v h—
()
Td=T40kN/ A, 7 v 1 —FFH)L=18. 84m A 318,797 A - HA
kskk BH— 1315 xskx
000131 | Mt (L& T
()
BELT > H—7) Td=T40kN/ A, H=40cm il 198, 674 HRA - A
kskk BH— 13285 kskx
000132 | AT {EEREHIRA
()
ton 3,967 A - HLA
kskk BH — 1335 kskx
000133 | A KFRT.  EHRA
()
ton 3,966. 47 HEA - A
kskk BH— 1345 kskx
000134 | BT > — T
()
{1 S BRI ton 2,925.22 HRA - HEA
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kkk BHL— 1355 sk ok ok
000135 | BT > —T.
()
=21 ton 2,925. 23 HA - WA
kkok BHL— 1365 %k ok ok
000136 | hEET > —T.
()
At ton 2,925. 23 HA - WA
%k ok BH— 1375  skskk
000137 | 35 FieHk A SEq T
(G
=28 ton 2,925. 55 HA - WA
%k ok BH— 1385 skokok
000138 | ¥ A5 T
(G
S0 ton 2,926 HA - HA
%k ok BH— 13975  skoskok
000139 | ¥ A5 T
()
B ton 2,925. 21 HA - A
%k ok BH— 1405  sksk ok
000140 | EMEEHIL (7 v 1 —, SZIER)
(G
ton 1,392. 08 HRA - A
%k ok BH— 1415  skskk
000141 [FEHEEEIL (7 > H—F%+)
()
ton 1,392.08 HA - A
%k ok BH— 1425  sksk ok
000142 | EMREEIL (A% L&)
()
ton 1,392. 11 A - A
%k ok BH— 1435  sksk ok
000143 | Y54 kT
()
1 S B AR ton 1,162 A - A
kkk  BH— 1445  skskok
000144 | Y54 KT
(O
wk ton 1,162 A HA
kskk BHL— 1455 sk k ok
000145 |fftn—7
()
3XT ZAO0 124 m 436 HRA - A
%k ok BH— 14675 sk sk ok
000146 | ftAlisa — 7
()
3XT7 ZA0 124 m 436 HA A
kkok BHL— 1475 %ok ok
000147 [Kim—7
()
3XT7 ZA0 124 m 436 HA A
kokok BHL— 1485 sk ok ok
000148 | Kiflishe — 7
()
3XT ZN0 124 m 436 HA A
kokok BHL— 1495 sk ok ok
000149 | &fH 7V » 7 (ERY)
()
12 ¢ X800 A 2,135 HA - BHA
kokok BHL— 1505 sk k%
000150 | ‘A E A~ R T v —B
()
D22 (M20) X 1000 A 6,042 HEA - A
kkok BHL— 1515 sk ok ok
000151 A HE A R T v —B
()
D22 (M20) X 1500 S 8,649 HEA - A
kokok BHL— 1528 sk ok ok
000152 |+ 7 v h—27Y v
()
50X 95 i 1, 856 HA A
kokok BHL— 1535 sk ok ok
000153 |[VZ U v 7 (K)
()
4.0t %109 i 928 HA A
kkok BHL— 1545 sk ok ok
000154 |VZ U v 7 (1Y)
(m)
3.2t X 92 ] 845 HA A
kokok BHL— 1555 sk k %k
000155 | 478
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3.2¢ X50X50 nt 1,875 A HA
kokok BHL— 1565 sk k %k
000156 | =t AL
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%k ok BH— 1575  skskok
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()
nf 840 HA - HA
%k ok BH— 15875 skk ok
000158 |V A ¥ @ — 78R T
()
3XT7 ZAO 12¢ m 1,528 HRA - HA
kokok BHL— 1595 sk ok %k
000159 | 77 > B —g& i T
()
AT AL BT H—B D22 (M20) X 1000 EN 13, 296 A - HA
kkk BHL— 1605 %k %
000160 | 7 > H —g& i T
()
BEAE AL BT =B D22(420) X 1500 ES 22,117 BA - HA
kkok BHL— 1615 % k%
000161 | +F7 > =2V v FIRA T
()
50X 95 fiE 255 HA - HA
kkok BHL— 1625k ok ok
000162 | x4l (F5 & = A /1) Gk
()
3.2¢ X50X50 m 1,528 A - HA
kkok BHL— 1635 sk ok ok
000163 | fft 1 —7
()
3XT7 ZAO 12¢ m 436 HA - HA
kkok BHL— 1645 %k ok
000164 | ffitflinam— >
()
3X7 ZA0 124 m 436 HA A
kkk BHL— 1655 %k k%
000165 | Kz —7
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3X7 ZA0 124 m 436 HA A
kokok BHL— 1665 % k%
000166 | FiffisH = — >
(m)
3X7 ZNO 124 m 436 HA A
kkok BHL— 1675 %k ok ok
000167 [ &7 ) » 7 (BAY)
()
12 ¢ X800 Z 2,135 HA A
kkok BHL— 1685 sk k%
000168 [HEAE A b7 v H—B
()
D22 (M20) X1000 & 6, 042 A - HA
kskk BH — 1695 sk skx
000169 [HEAEA Y b7 v H—B
()
D22 (M20) X1500 & 8, 649 A - HA
%k ok BH— 1705  sksk ok
000170 | +F 7> H—2V v 7
()
50 X 95 fiE 1, 856 HA - HA
%k ok BH— 1715  sksk ok
000171 [VZ U v 7 (K)
()
4.0t X109 1 928 HA - HA
%k ok BH— 1725  skskok
000172 |V U » 7 (/)
()
3.2t X92 18l 845 HEA - A
kskk BH— 1735 kskx
000173 | 44
()
3.2 ¢ X50X50 i 1,875 HBA A
%k ok BH— 1745  skskok
000174 |f& oA v
()
3.2¢ X50X300 JLE] 353 BA A
%k ok BH— 1755  sksk ok
000175 | RHAIEFR T
()
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%k ok BH— 1765  sksk ok
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()
3XT7 ZNO 12¢ m 1,528 HRA - A
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ST AL b7 H—B D22 (M20) X 1000 N 13, 296 EA - HA
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kkk BH— 1795 ok k ok
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(!
50X 95 i 255 A A
kokok BHL— 1805 %k k %k
000180 | 4l (5 = A /V) @
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3.2¢ X50X50 nt 1,528 HBA - HA
kkk  BH— 1814 ok ok ok
000181 |fftmr—7"
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3X7 ZA/0 124 m 436 A - A
kokk BH— 1829 ok ok ok
000182 | fftffish = —
()
3XT IA/0 124 m 436 HA - HA
kkk BH— 1839 ok ok ok
000183 |Kim——7
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3X7 ZA/0 124 m 436 A A
kkk BH— 1849 ok ok ok
000184 | Kiffish = — 7
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kkk  BH— 1859 ok ok ok
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12 ¢ X800 EN 2,135 BA - HA
kkk  BH— 1869 ok k ok
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D22 (M20) X 1000 A 6,042 A - A
kkk BH— 187H sk ok ok
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kkk  BH— 1884 ok ok ok
000188 | -4 v AT v —
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kkk BH— 1894 ok k ok
000189 | V7 v =2 v 7
()
50X 95 1 1, 856 A - A
kokok BHL— 1905 sk k%
000190 |VZ U v 7 (K)
()
4.0t <109 & 928 A - HA
kkok BHL— 1915 %ok ok
000191 |VZ U v 7 (/N)
()
3.2t X92 18 845 HEA - A
kkk BHL— 19275 sk okok
000192 | 444
()
3.2 ¢ X50X50 ni 1,875 A - HA
kkk BHL— 1935 sk okok
000193 |f& A v
()
3.2 ¢ X50%300 i} 353 HRA - A
kkk BHL— 19475 sk okok
000194 | RIAFEFE T
()
nf 840 HEA - A
kkk  BH— 1955 ok okok
000195 |V A ¥ a— 74k T
()
3XT INO 124 m 1,528 HA - HA
kkk  BHL— 196% ok k ok
000196 | 7 > —E T
()
A AL T v —B D22 (M20) X 1000 G 13, 296 HA - HA
kkk BHL— 1975 sk okok
000197 | 7 > h —ffE T
(m)
A AL BT =B D22(M20) X 1500 N 22,1117 HA - HA
kokok BHL— 1985 sk ok %
000198 | 7 > h —f& & T
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